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7KLV� VWXG\� DLPV� WR� GHWHUPLQH� WKH� H[WHQW� RI� WKH� IORRG� KD]DUG�� YXOQHUDELOLW\� DQG� ULVN� OHYHOV� RI�

IORRGLQJ� LQ�/DPRQJDQ��(DVW�-DYD�3URYLQFH��7KLV�UHVHDUFK�XVHV�GHVFULSWLYH�PHWKRG�ZLWK�VFRULQJ�RI�
XQLW�UHJLRQ�DQG�DUHDO�GLIIHUHQWLDWLRQV�

5HVXOWV�RI�WKLV�VWXG\�LQGLFDWH�WKDW�WKH�EDVLQ�VKDSHG�DUHD�RI�/DPRQJDQ�FDXVLQJ�WKLV�DUHD�WR�EH�DQ�
DUHD�ZLWK�D�KLJK�ULVN�RI�IORRGLQJ��7KHUH�DUH����YLOODJHV�RXW�RI�����YLOODJHV�ZHUH�LQXQGDWHG�ZLWK�WKUHDW�
OHYHOV� ORZ��PHGLXP�DQG�KLJK�� WKHUH�DUH����YLOODJHV�ZLWK� ORZ�KD]DUG� OHYHO�����YLOODJHV�ZLWK�PHGLXP�
KD]DUG� OHYHOV�DQG����YLOODJHV�ZLWK�D�KLJK�KD]DUG� OHYHO��%DVHG�RQ� WKH�DQDO\VLV�RI� WKH�HOHPHQWV�RI�
YXOQHUDELOLW\�� WR� DUHDV� ZLWK� ORZ� YXOQHUDELOLW\� FDWHJRU\� FRQWDLQHG� LQ� �� VXE�GLVWULFWV�� PHGLXP�
YXOQHUDELOLW\�IRXQG�LQ����VXE�GLVWULFWV�DQG�UHJLRQ�ZLWK�KLJK�YXOQHUDELOLW\�ZDV�IRXQG�LQ���VXE�GLVWULFWV�

5HVXOW�RI�IORRG�ULVN�DQDO\VLV��LW�LV�NQRZQ�WKDW�KLJK�ULVN�YLOODJHV�DUH�JHQHUDOO\�IRXQG�LQ�WKH�QHDU�RI�
%HQJDZDQ�6ROR�ULYHU�DQG��%HQJDZDQ�-HUR�ULYHU��7KH�ZKROH�YLOODJH�LV�LQ�WKLV�FDWHJRU\�DPRXQWHG�WR����
YLOODJHV�ORFDWHG�LQ�WKUHH�GLVWULFWV�QDPHO\�����.HFDPDWDQ�%DEDW�WKHUH�DUH���YLOODJHV������.HFDPDWDQ�
.DUDQJELQDQJXQ�WKHUH���YLOODJH������DQG�LQ�.HFDPDWDQ�/DUHQ�WKHUH�DUH���YLOODJHV��0HGLXP�ULVN�UHJLRQ�
WKHUH�DUH�DW����YLOODJHV�LQ����VXE�GLVWULFWV��7KH�YLOODJHV�DUH�JHQHUDOO\� ORFDWHG�QHDU�DORQJ�VWUHDP�RI�
WKH�%HQJDZDQ�6ROR�ULYHU�DQG�%HQJDZDQ�-HUR� ULYHU��.HFDPDWDQ�.DUDQJELQDQJXQ�DQG�/DUHQ� LV� WKH�
KLJKHVW�QXPEHU�RI�YLOODJHV�ZLWK�PHGLXP�ULVN�RI�IORRGLQJ��7KH\�KDYH�HDFK����DQG����YLOODJHV�ZLWK�D�
PHGLXP�ULVN�RI�IORRGLQJ��)RU�UHJLRQ�ZLWK�ORZ�IORRG�ULVN�LV�ORFDWHG�LQ����YLOODJHV�LQ���VXE�GLVWULFWV�
.H\ZRUG��+D]DUG��YXOQHUDELOLW\��IORRG�ULVN�
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$QDOLVLV�7HUKDGDS�$QFDPDQ



*DPEDU����3HWD�.HMDGLDQ�%DQMLU

$QDOLVLV�7HUKDGDS�.HUHQWDQDQ
�� 7LQJNDW�.HUHQWDQDQ�7LQJJL



�� 7LQJNDW�.HUHQWDQDQ�6HGDQJ

�� 7LQJNDW�.HUHQWDQDQ�5HQGDK

$QDOLVLV�7HUKDGDS�5HVLNR
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+LGURORJL� GDQ� 3HQJHORODDQ�

'DHUDK� $OLUDQ� 6XQJDL�

)ORRG� 5LVN� 0DQDJHPHQW

*HRVSDWLDO� 7HFKQLTXHV� LQ� 8UEDQ� +D]DUG�
DQG� 'LVDVWHU� $QDO\VLV


